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[1]C. C. Chiang et al. [Belle], Phys. Rev. D 81 (2010), 071101.
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Ú�ïÄ

pQCDéB → SS�PCL§?1
ïÄ§uyù
L§kX���©|
'£10−6 − 10−4¤

8c§B → SS�PC3QCDFµee�¿vk�XÚ/ïÄ

[2]H. Y. Cheng, C. K. Chua and K. C. Yang, Phys. Rev. D 77 (2008), 014034.

[3]Z. T. Zou, Y. Li and X. Liu, Eur. Phys. J. C 80 (2020) no.6, 517.

[4]X. Liu, Z. J. Xiao and Z. T. Zou, J. Phys. G 40 (2013), 025002.
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P → S�[/GÏf�½Âµ

〈S(p′′)|q̄γµγ5b|B(p′)〉 =− i

[(
Pµ −

m2
B −m2

S

q2
qµ

)
U1(q2) +

m2
B −m2

S

q2
qµU0(q2)

]
Ù¥§Pµ = (p′ + p′′)§qµ = (p′ − p′′)

ëêz�{µ

F (q2) =
F (0)

1− a(q2/m2
B∗) + b(q2/m2

∗B)2
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Table: Bu,d,s → K∗
0 (1430), a0(1450)3S1ÚS2�Ye�[L§�/GÏf

F F (0) a b F F (0) a b

U
B→K∗

0
1 0.29± 0.02(S2) 1.27 0.33 U

B→K∗
0

0 0.29± 0.02(S2) 0.16 0.11

0.18± 0.01(S1) 1.03 0.15 0.18± 0.01(S1) −0.23 0.29

U
Bs→K∗

0
1 0.28± 0.02(S2) 1.58 0.84 U

Bs→K∗
0

0 0.28± 0.02(S2) 0.55 0.20

0.23± 0.02(S1) 0.92 0.29 0.23± 0.02(S1) −0.23 0.36

UB→a0
1 0.29± 0.02(S2) 1.33 0.38 UB→a0

0 0.29± 0.02(S2) 0.32 0.06

0.19± 0.01(S1) 1.01 0.16 0.19± 0.01(S1) −0.17 0.30
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Iþ0fPC~ê�½Â�µ

〈S(p)|q̄1γ
µq2|0〉 = fSpµ, 〈S(p)|q̄1q2|0〉 = mS f̄S(µ) (1)

f̄S(µ)ÚfS�mk±e'Xµ

f̄S = µ̄S(µ)fS , µ̄S(µ) =
mS

m1(µ)−m2(µ)
(2)

f̄K∗0 (1430) =234+85
−87MeV, f̄a0(1450) = 256+56

−54MeV, S1

f̄K∗0 (1430) =542+180
−190MeV, f̄a0(1450) = 456+57

−56MeV, S2

QCD SR�O�(Jµ

f̄K∗0 (1430) =− 300± 30MeV, f̄a0(1450) = −280± 30MeV, S1

f̄K∗0 (1430) = 445± 50MeV, f̄a0(1450) = 460± 50MeV, S2

[5] H. Y. Cheng, C. K. Chua, K. C. Yang et al. Phys. Rev. D 87 (2013) no.11, 114001.
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Ï~§leading-twist�©Ù�Ì�±ÏLX�
�õ�ªÐmµ

ΦM(x , µ) = 6x(1− x)

[
1 +

∞∑
n=1

aMn (µ)C
3/2
n (x − x̄)

]
(3)

Ù¥§aSn (µ) = µ̄S(µ)bSn (µ)§éuIþ0f5`§·�æ^�PC~ê�f̄S§éA
Iþ0f�©Ù�ÌdX�
�ÝbSnÐm§�Ò´e¡�/ª

ΦS(x , µ) = 6x(1− x)

[
bS0 +

∞∑
n=1

bSn (µ)C
3/2
n (x − x̄)

]
(4)
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Table: S1ÚS2�YeIÝ�µ = 1GeV��X�
�ÝbSn

b0 b1 b2 b3

K∗0 (1430) Thiswork 0.08± 0.01 −0.13± 0.05 −0.03± 0.00 −0.01± 0.00

0.08± 0.01 −0.15± 0.05 0.06± 0.01 −0.09± 0.05

QCD SR 0 −0.57± 0.13 0 −0.42± 0.22

0 0.58± 0.07 0 −1.20± 0.08

a0(1450) Thiswork 0 −0.17± 0.03 0 −0.03± 0.01

0 −0.17± 0.06 0 −0.19± 0.03

QCD SR 0 −0.28± 0.12 0 −0.49± 0.15

0 0.89± 0.20 0 −1.83± 0.18
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QCDÏfzµeeB → SSPC��ïÄ
Table: B → SSPC�©|'(10−6)§(ρiA, φ

i
A) = (ρfA, φ

f
A) = (1,−55◦)

Decay modes Class S1 S2
B− → a−0 a0

0 T 0.01+0.00+0.01
−0.00−0.01 0.04+0.00+0.03

−0.00−0.02

B̄0
d → a+

0 a−0 T 0.19+0.01+0.12
−0.01−0.09 0.55+0.03+0.17

−0.02−0.15

B̄0
s → K∗+

0 a−0 T 0.14+0.01+0.09
−0.01−0.07 0.04+0.03+0.23

−0.02−0.19

B̄0
d → a0

0a
0
0 C 0.27+0.02+0.27

−0.01−0.16 0.83+0.04+0.38
−0.04−0.30

B̄0
s → K∗0

0 a0
0 C 0.09+0.01+0.06

−0.01−0.05 0.36+0.02+0.18
−0.02−0.15

B− → a0
0K
∗−
0 P 0.98+0.05+0.91

−0.04−0.66 6.65+0.30+5.26
−0.24−3.97

B− → a−0 K∗0
0 P 2.05+0.09+1.88

−0.07−1.36 14.13+0.64+11.16
−0.50−8.42

B̄0
d → a+

0 K∗−0 P 1.87+0.09+1.73
−0.07−1.26 12.40+0.56+9.81

−0.44−7.40

B̄0
d → a0

0K̄
∗0
0 P 0.97+0.04+0.75

−0.03−0.50 6.56+0.30+5.18
−0.23−3.91

B̄0
s → K̄∗0

0 K∗0
0 P 1.88+0.09+1.70

−0.07−1.23 14.99+0.68+12.14
−0.54−9.18

B̄0
s → K∗−0 K∗+

0 P 1.73+0.08+1.57
−0.06−1.14 13.98+0.64+11.39

−0.50−8.61

B̄ → K∗−0 K∗0
0 P 0.07+0.00+0.07

−0.00−0.05 0.30+0.02+0.24
−0.01−0.18

B̄0
d → K̄∗0

0 K∗0
0 P 0.06+0.00+0.06

−0.00−0.04 0.29+0.02+0.23
−0.01−0.17

B̄0
d → K̄∗−0 K∗+

0 A 0.016+0.001+0.020
−0.001−0.014 0.101+0.008+0.112

−0.007−0.085

B̄0
s → a0

0a
0
0 A 0.049+0.002+0.064

−0.002−0.036 0.117+0.006+0.074
−0.005−0.052

B̄0
s → a0

+a0
− A 0.098+0.004+0.074

−0.003−0.060 0.234+0.011+0.094
−0.010−0.084
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QCDÏfzµeeB → SSPC��ïÄ
Table: B → SSPC�©|'(10−6)§(ρiA, φ

i
A)= (2.98,−105◦), (ρfA, φ

f
A) = (1.18,−40◦)

Decay modes Class S1 S2
B− → a−0 a0

0 T 0.03+0.00+0.02
−0.00−0.01 0.10+0.01+0.06

−0.01−0.05

B̄0
d → a+

0 a−0 T 0.37+0.02+0.12
−0.02−0.11 0.63+0.05+0.25

−0.04−0.21

B̄0
s → K∗+

0 a−0 T 0.14+0.01+0.04
−0.01−0.04 0.49+0.03+0.30

−0.03−0.22

B̄0
d → a0

0a
0
0 C 0.63+0.05+0.31

−0.04−0.25 1.17+0.09+0.73
−0.08−0.53

B̄0
s → K∗0

0 a0
0 C 0.12+0.01+0.04

−0.01−0.03 0.51+0.04+0.33
−0.03−0.26

B− → a0
0K
∗−
0 P 0.82+0.04+0.26

−0.03−0.22 5.07+0.23+1.03
−0.16−3.03

B− → a−0 K∗0
0 P 1.64+0.07+0.49

−0.05−0.42 10.58+0.47+8.37
−0.33−6.29

B̄0
d → a+

0 K∗−0 P 1.70+0.08+0.56
−0.05−0.47 10.42+0.46+8.29

−0.33−6.23

B̄0
d → a0

0K̄
∗0
0 P 0.86+0.04+0.27

−0.03−0.23 5.44+0.24+4.30
−0.17−3.23

B̄0
s → K̄∗0

0 K∗0
0 P 0.54+0.02+0.15

−0.02−0.12 5.94+0.26+5.81
−0.19−3.77

B̄0
s → K∗−0 K∗+

0 P 0.61+0.03+0.17
−0.02−0.13 6.65+0.30+6.56

−0.21−4.39

B̄ → K∗−0 K∗0
0 P 0.07+0.00+0.03

−0.00−0.03 0.25+0.01+0.22
−0.01−0.16

B̄0
d → K̄∗0

0 K∗0
0 P 0.05+0.00+0.02

−0.00−0.01 0.11+0.01+0.12
−0.01−0.07

B̄0
d → K̄∗−0 K∗+

0 A 0.107+0.008+0.143
−0.007−0.105 0.562+0.042+0.619

−0.040−0.464

B̄0
s → a0

0a
0
0 A 0.383+0.017+0.509

−0.012−0.258 0.659+0.032+0.415
−0.027−0.288

B̄0
s → a0

+a0
− A 0.766+0.035+0.596

−0.026−0.482 1.318+0.064+0.527
−0.054−0.463
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QCDÏfzµeeB → SSPC��ïÄ

¢�þ§BelleÜ�|éB̄0
d → K ∗0 (1430)K̄ ∗0 (1430)0PC�©|'�ÐÚÿþ�Ñ
�

wµ

B(B̄0
d → K ∗0 (1430)K̄ ∗0 (1430)0) = (3.21+2.89+2.31

−2.85−2.32)× 10−6

lL¥·��±uyQCDF3S2�Yeéù�PC�ªýó�¥%��µ

B(B̄0
d → K ∗0 (1430)K̄ ∗0 (1430)0) ≈ 0.29× 10−6

[1]C. C. Chiang et al. [Belle], Phys. Rev. D 81 (2010), 071101.
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B → SSPCL§¤7L���6Ônþ

3QCDÏfzµeeéB → SSPC?1��ïÄ
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